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BmHES : J\F 8009276 |&&=050DOA-4- 120 km EEHMEE/A/B) : |2023/10/25
FHHIREEFRS : 3.2 mm |FAERKFODOA-F- 6,617 km AEH(E/HA/8) : [2024/5/22
e | e gy | FERBRS AT B %S (mm) BEEES | ERE | BERx | mEE | EE | BOSUEE
= (mm) 1 2 3 T4 (mm) | (mm) %) |[km/mm)|  km) (rA#%)
1]W979 12.8] 7.4] 6.8 7.2 7.1 57| 44.5]| 1,142] 10,962 5
2|w979 12.8] 8.0| 9.3| 8.1 8.5 44| 34.0| 1,494 14,338 8
3|w979 128 75| 8.1 8.7 8.1 47| 36.8| 1,380| 13,252 i
4|w979 12.8| 85| 85| 8.1 8.3 45| 350 1,451 13,933 8
5|w979 12.8| 89| 75| 7.9 8.1 47| 36.6| 1,385| 13,299 7
6/w979 12.8| 83| 78] 8.4 8.2 46| 36.3| 1,398| 13,423 7
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Fi 12.8 8.0 48] 37.2| 1,365| 13,103 7
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s | sy | PEORRS HE B (mm) MRS | Eae | Rk | miESE | B | BSNUKEE
sREHE [ = (mm) 1 2 3 T15(mm) | (mm) %) |km/mm)|  (km) (rE#%)
1|W979 12.8]10.0] 10.3] 9.7 10.0 28] 219 2,497| 23,971 17
2|ws79 2.8 9.2|| 5.8} 9.1 9.4 3.4 26.9| 2,031 19,497 12
3|RTW979 28] 12.0)l10,1[ 11.2 11.1 1.7| 13.2| 4,134 39,685 33
4|RTW979 198 11al 101111 10.8 20| 16.0| 3,426| 32,887 26
5|RTW979 128 11.2)] 9.8]11.4 10.8 2.0| 159 3,437| 32,995 26
6|RTWS979 12.8] 10.7| 9.4]10.8 10.3 25| 19.4| 2,819 27,060 20
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